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i What are the main clements of Production‘

Planning and {Contml?
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Section-B
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{Short Answer Questions)

(a*zr, W’N m)

fq z-«-at?,rﬁim IEME a Frest c{’f usEl 9 T '

M :m mfﬁa%’s

Describe ihu cascmml c,hax u;icx 1$1m of Opul“ill}(m“-

Rcsearelﬁ“

ot e <1 o Rl ek e

ik o

QE)}{ (m} : mm quesuans .mzt ef the follewmg‘ :




(4)

7. In a bank, every 15 minutes one customer arrives
for céisliing cheque. 'The\ staff in the payment
Counter takes 10 minutes for serving a customer

on an average. Find ﬂié-‘ayeragc quene 'lmgth. y
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Section-C

(&35
(Detailed Answer Qﬁestitms)

Attempt any three que«:honsout of the following
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10.  Using Simplex method, maximize the objective

function z= 2x, +x; — x5 subject to the

following restriction :
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11.  Solve the foliowing Transporiation Problem:
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